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[210]

@™ue - 31 / SECTION - A

x-S Wy / Objective Type Questions
gy @z 18 1ooaa;d;m$mwr%mﬁvwﬁﬁaﬁ#qa;mw,
Msowﬁ%mmmiﬁwwﬁWWOmyﬁzwﬁﬁw
: 50 x1=50

9/

out of which only one is correct.

tion Nos. 1 to 100 have four options,
lected option on the

Ques
Answer any 50 questions. You have to mark your S€
OMR-Sheet. | 50 x1=250
| mmia gt 20, 17, 14, 11, a7 35 df ug 1§ 2

A) 82 | B) - 82 '

C) 72 | D) ~72

What is the 35th cerm of the A.P. 20, 17, 14, 11, - ?

&) 82 ' ' (B/Zz |

) 72 | - (D) -72
0. mHid Al 3, 8, 13, 18, ...,93ﬁﬁﬁaﬁ‘ﬁa‘§?

@A) 19 | B) 18

c) 20 (D) 16

How many terms arc in AP 3, 8, 13, 18, ..., 93 ?

A) 19 | B) 18

(C) 20 ( 16
3. g A 1, 3,5, 7, o B T 30 g2l 1 ITHEA

(A) 900 (B) 990
\\(C) 890 (D) 800

[H/S-24(M)/ 7204 1-75/30)] Page 3 o748
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The sum of first 30 terms of th¢ AP.1,3,5 7,18
(A) 900 (B) 990

() 890 (D) 800

farg (-242,-2) %8 squfa d 2 ?

(A) TUH | (B) FGIR

© T D) =

The point (—2‘/_2_,—2) lies in which quadrant ?

(A)  First (B) Second

(C) Third (D)  Fourth

ﬁrgaﬁ(scoso,omé(o,5sin0)é;aﬁaﬁa£r%

a) 10 B) 5

(c) 30 D) 25

T - . )
he distance between the points ( S cos 0, 0)and (O, 5 sin 0)is

(A) 10 B) S

() 30 D) 25

o o P 59 ey R T ) 10 T g I
o i AT sﬁ?hﬁ?ngﬁ%SﬁEﬁm

(A)  (5,10) (B) iO, S)

(C) (10,10) (D) (5,95)

H/S-2
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E -' [210)

If from a point B the length of perpendicular drawn to x-axis is

10 and the length of perpendicular drawn to Y-axis is 5 then the

co-ordinates of the point B are

(A) (5, 10) (B) (10,5)
(© (10, 10) (D) (5,5)
7. ﬁ@aﬁ'(l,—s)qaim,—mé;a"laaﬁq&%
(A) 2J3 : (B) 3V2
C 9 D) 6

The distance between the points ( 1, — 3 ) and (4,-6)is

a) 2J3 S (B) 3V2
C 9 (D)v 6
8. y-aawasﬁgsﬁﬁgq(s—z)aﬁt(—sz)éméﬁﬁ
@) (0,3) ( (—2 0)
© (0,-2) D (2,2)

The p01r1t on y-axis which is equidistant from the pomts (S,-2)
and (- 3, 2) is _ '
@) (0,3) | B) (-2,0)
© (0,-2) (D) (.2 2)

0. ABCanam%ﬁm%sﬁéA(o 0),B(8,0), C(8, 6)@ D(0,6)
&t 31 %1 © Rreput g

A) 12 (B) 10
C) 14 ‘ (D) 16
Tee———
H/S-24(M)/72041-(76/80) Page 5 of 48




10.

11.

ad (0,60

B 10
w12
© 14 (D) 16
qﬁ(0,4),(o,0)qa(3,0)%%@%5@%%@&@%@
£ qiffa @
A) 8 @) 10
Q) 12 (D) 15 - |

' 13.
le then the

If(0,4) 0,0) and (3,0)are the verticés of a.triang

perimeter of the triangle is

@A 8 B) 10
© 12 D) 15
e P(y)=(y+1)(y3+2)(y4+‘6) w g(y)=y*-3y+l l 555; -
=id B
&) 6 B 3 <
‘ . ' 14.
@ 9 (D) 4

If ply)=(y+1) (g +2) (y*+6) and gly) =y —3y+1 then B¢

degree of th; is

(A) 6 B 3

¢ 5 D) 4 /// L
48

H =
[H/S-24(M)/72041-(76/80) page 6 ©




Eﬁwﬁfﬁaﬁﬁﬁqﬁ'aﬁuﬁw%? [4210

(A) b(x+1)'(x—l)=x2-4x3 (.Bl) (x+4)*=3x+4

) 4x+§1;=8x2 | (D)  (2x*+4) = (5+x) (2x-3)

Which of the following is a quadratic equation ?

(A)  (x+1) (x-1)=x*-4x> (B) (x+4)°=3x+4

' (© 4x-+§l;=8x2 | (D) (2x2+4)=(5+x) 2x-3)

13. ?Tﬁ{%ﬂ'l?fﬂtﬁw x?_—.5x+p=10 %@WW —4@d p. CR!
w + 0 ®s
C) 6 a D) 8
If product of the roc),ts' df thé quadratic equatién x% —5x+ p=10

- 4, then the value of pis

A) 4 | (B) S

o 6 . o 8 |
14. Afg (x-2), px*-x—6 I T PAEE & =1 T g

A) 2 | (Q/

Cc 1 (D) 4

If (x-2)is a factor of p)c2 —-x -6 then the value of pis

A) 2 (B) 3

© 1 (D) 4



5. k%
@ ? B
o 12 V(D) 6. - IS ¥:
c 10 X* +6x+k=(

; uation
dratic €4
|  k, roots Of the qué
lue ol ™
FOI' \Vhat va

are real and equal ?
A 12
c) 10

ST SR SR
16. Wﬁw%xh%f?'o%ﬁt@ S@%

A @ (B) e T T

19.
) awtE e (D) v A
What is the nature’ 'o.f ’th.e roots. of the quadratic equati®
%xQ —2x+% =0v?
(A) Real and unequél (B) | Reél--and equal
(€)  Not real (D)  None of these
17. zrhf‘iamwhw Yy’ +3y-18=0 wqmi@_6§;ﬁm?§ﬂ‘ﬁ@ﬂ
EE N ® -3 PR
€ 6 O s | ———

‘ . 0
’ \H/b-24(M)/72041—(76/80)l pag® i



18.

19,

(210

If one root of the quadratic equation ‘y2 +3Yy-18=0 is - 6 then its

another root is

afe f5Emd T 1% -8x+5 =0 H g « W & A o + 2 F T AW
a) 44 | B) 5 |

(C) 74 _» 1 64 i
If « and B are the roots of thé quadratic equation x?-8x+5 =0
then the value of o2 +[32 is - N

(A) 44 B 54

) 74 A D) 64 |

T%amqrﬁw-axQ;bx—c=o, a=0 %r&a%

(A) —b*Vb® - 4ac B) b-i\/b2 +4ac

2a “oa
2a a

The roots of the quadratic equation ax? - bx-c=0, q= O are

() zb*Vb®-4ac  biVram

2a (B) e

2
. (C) -b+ b* + 4ac Mb:’- -4ac

[H/S-24(M)/7204 L-(76/30)] ! Page 9 of 48



2
| 2 i =0 aan qx +qx
. B R P
20, G * 7 o A
_p) &I
s T E dl (a-F '
® -3
-4
A
(A) o 4
@’ 2 2x+p=0 and
the equations 2%
[fx=2isa common root of both
- 1s
gx° +qx+18=0 then the value of (q P} L
-3
) -4 (B)
) 9 (D) 4 o
. ' N 2
21, TRl I E FR sﬁtﬁaaﬁsﬁm‘aﬁaraaﬁqﬁ 3@@% ™
2t |
A) 4T [
(€ 108
The perpendiculaf distance from the centre-of a circle to a chord @
length 8 cm is 3 cm. Then the radius of the circle is
(A) 4cm B) 5 e
© toem O 8cm
22. e Q99 Aol W A A vl w6 o o
A
(A) 1 B 2
© 3
(D) 4

Page 10
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23.

If
cir
A)
(©)
24. TP
I
(A)
©
TP an

circle v

ZOTPi
(a) 4

(C) &

L ———
o



. 12
If two circles touch cach other internally then the n’um‘belo \[
r o

common tangents is
(A) 1 - (B) 2
© 3 D 4

23. Al el a0 R San R wrard gu B e % v @ @ e g s w
SR AT 10T /AT |

(A)  90° (B) 60°
(C) 30° ‘ . (D) 120°

If the length of any chord of a circle is equal to the radius of the

circle then the angle subtended by the chord at the centre is

-

(A)  90° | | (B) 60°
C  30° | (D) 120° |
24. TP Qe TQ%@W%@T@@%W% O 3 W Tt T Q@
mﬁwm%%,époo%lzo%ﬁzommm@m |
(A)  40° | (R, 30°
(C) 50°. ‘ D) 60°

TP and TQ are two tangents drawn from an external point T to a

circle whose centre is O‘such that ZPOQ = 120°. Then the value of

ZOTPis

(A)  40° (B) 30Q°

(C) 50° : (D) 60°
\'

| H/S-24(M)/7204 1-(76/80) Page 11 of 48




<t 2A 7L Lo 2 d
ﬂ afg tanQA:cot(A— 8°)
25. i .
72° |
. (Q)/ 45°
©c) 69 | ' nole, then the. value
t(A-18°) where 24 js an & ute ang
If tarlQA——co' o=
of Ais
@A) 72° B 3 60
() 60° ) D) et

If sin6=‘/2§ ,0< 90° then tan? 6;1 =
( 1 | - (B) O
2 | D -1

27. 9cosec?22°-9¢cot222°+1 =

1
\9 (D) 0 ' |




W\

Ife sinO:% @ cos 0 T O

28.
(A)
b’ —a
© = o) 2
b —-a
if sin0=g— then the value of cos 0 is
A = (B) -
b —-a .
b
C D -
© Tm D) 2
20. TR secezl-Q- @ cot 6 =
5)
( 5 (B) T5§
© = o 2
If sec =12 _
secO 15 then cot 0
. D 5
A — >
A 13 B 13
12
©  F o 2

[210)
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The ratio of volumes of two cubes is 1 : 64. The ratio of their total

surface area is

@A) 1:4 (B 1:16
C 1:18 - (D) 1:8
34, awwmmw%wmmwm 1:27
IThI Frmadt ‘om 3T @‘ﬂ
@ 1:y2 B) J2:1
©  1:2 D) 1:4
Two circular cylinders of equal volume have their heights in the
ratio 1 : 2. The ratio of their radii is ‘
B 1:43 o .'(B)' | ‘/5.: 1
€ 1:2 D) 1:4 |
35, WWWWW 1760 Jft 2 Qamanmtmamq 28 I 2
a gEehl S gt |
(A) 10 & (m
(©) 20 @ (D) 40
T .

| H/S-24(M)/72041-(76/80)| »
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2 and its base [

| " cylinder is 1760 cm
E If the curved surface ar.ca Of'ahtyis , 3¢
diameter is 28 cm then its hels
: (B 15 cm
(A) 10 cm (B)
© 20cm (D) 40 cm
36, A6 HS o 3R fr= R & 9x HZAOB = o a1, AB ! ealTs B
271 R0 - 2&59
™ S50 ®) /" 360
C 7R20 ' ' (D) Z_‘EEQ
€ T80 : 360
If O is the centre and R is the radius of a circle and /AOB = 0 then
the length of arc ABis | ' 3¢
27RO : 27RO
A = -
(A T80 ' B 360
2 ' g 2
c ZIRN ‘ R0
© 180 ' U 360
37. e Fee g 1 fods S 1T saR B r @ A wigp w1 ag P
(A)  arlrr | B) mrl +nr?
” _
( nrl +r _ D) 7wl +2r>
If li i .
is slant height of a cone and ris the radius of its base then totd
surface area of cone is 40
(A
) WILstT (B) nrl +nr2
(C) l +r2 .
mrAT (D) 7l +2r2

—

\H/S-24(M) /7204 1-76/80)| pagelé/of*‘




- [210)
E 2 Tielt % AEAH! BT FUE@ 125 : 27 & A b JHI A% H I

raulll
A) 9 B) 25:9
(@, 5:3 (D) 3:93

The ratio of volumes of two spheres is 125 : 27 then the ratio of its

surface areas is
(A) 9:25 | | (B) 25:9
(C) 5:3 | (D) 3: 5
39. sﬁtﬁﬁw%ﬁﬁaﬁﬁaﬁmwszﬁmﬁ%@%mﬁmm
%m—gs%ﬁanw-ﬁﬁw%

a) s | B 9

- ) 10&R - (D) 12&H
A sphere of radius 8'cm is melted to form a cone of height 32 cm.
The radius of base of the cone is
(A) 8 cm : : (B) 9 cm

2l (C) 10cm (D) 12cm

40.  7fe M 1 gH A% 616 A2 A @ Tt HT AH &

(A) 7@ (m
(C) 28 @H (D) 563

28 T

l H/S-Q4(M)/7204 1-(76/80) Page 17 of 48




47

()

o A . { poor? 4 77 19
."I / > ’,‘ ’, ,/ ’ .‘. Js sas "I {
4
3 ,2
b ¢ (B 2773
(A s )
)
- 2
“ ¥ L =
() 298" (D) 279
) 3 ”~ ; o - - — _a .
5 %) 7z 7E U TA 5 2

2 Al w1 Ho Mo 19

AR

(h) 75 )/ 15
(C) 316 (D) 525
and L.C.M. is 105. If one of th

1,01, of two numbers is 15

The
5 then the other number is

numbers i

(B) 15

(A 75
(D) 525
g = 31 a4 r=327 @ a® ¥

(C) 3106

ufe s uenfis a = bg+r iip = 43

all
(A) 1365 (1) 1356
(D) 1350

(C)y 1360
= 43, g = 31 and r = 32 th

If in division algorithm a = bg+r, b

the value of a will be
(A) 1305 (13) 1356
(D) 1350

\

(Cy 1360
- Page 20
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. '%almﬁ@ﬁmmwg ’ _
49, Ife q T YdlcH W : .
(A) 2q +1 (B) 2q
C) 2g+3 D) 29+3 | .
| ing is an even posIitve
. If g is a positive integer, which of the following
integer ? |
(A)  2g+1 (B) 29
(C) 2g+3 (D) 2g+5
50. FrafeiRaa o foreeh qemerd YER @7d @ 2
@ = x35d;’3x 73 | e 2-51x532
Which of tﬁe following has érminating deéimal expansion ?
) s B s
©) s G Fos
S1.  sin 6 x cot O ST SYchH T 8 ? -
(A)  tan o0 | (@/OS 0
(C) seco (D)  cosec @
What is the reciprocal of sin 0 x cot § ?
(A)  tan 0 | (B) cos 0
i BEe - (D) cosec g

_coseco |
H/S-24(M)/ 72041 (7 50T W
[H . i: | - of 48



52. C 12° . cot 38° . CO 5p° . cot 60
a1 (B) J3
1
C —_ D 3
© T3 (D)
53. coscC (90°-0 ) . cos (90° ~0)=
() secO B) tan 0
(C) sin O (D) cot ©
<4 @R sin0=y2cos0 2 sec 0 1AM @
l ;
W 73 ® 3
<) %g' (D) 2
| J3

If sin0=\/§ cos 0 then the vahie of sec 0 is
& ok 3
7 B) 3

J3 .
(D)

2

W

G

(C)

A) 3 |
B) 1

m%
' o) L

3

H/S-




56.

57.

: A
afe A, B, c%e"rﬁgaABcészﬁW@aﬁ coscc( B

C
(MK% (B) sec &

. C
(€) COt«-(-Q:— (D) sin &
If A, B, C are angles of a triangle ABC, then the vatue of

(A+B).
cosec 5 is

(A) tan % (B) sec %
© cots o) sin <
ﬁﬁmwﬁmkﬁémﬁg@@mqﬁ% el o1 ST
A) 1:k B) 2:k°
(@ Tk D) k*:l

If the radius of a circle becomes k times then the ratio of the areas

of previous and new circles is

B) 2:k°

(D) Kk*:1

H/S-24(M)/72041-(76/80) Page 23 of 48



A) Tk ) (ﬂ+2)k
e diusis k?
S :meter of semicircle whose radit
Wwhat is the total pcrlmCtC
@ (erhF
(A) nk ,
(D) (n+2) k
Cc nt 2k ‘ .
‘ ot 8 gl
59. zaﬁﬁﬁcxz@mm%tﬁm%m | |
@A) 2643 @ 1323
) 84%H D) - T & B T
The distance covcfed by a wheel Qf diameter 42 cm in 2 revolutic
is ]
€) 84cm - (D) none of these
60, % g0 el Fren o & e o w4, B, o D L ®
ABCDI@_aﬁ Ul A_BCDEW St 2 . |
A 2
(A) 64 B B 100862
(C) 12%{;;112 |
’ D) 12832

/s ' 1
= 2HM)/ 72041 -rezaq)| page
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"A, B, C and D are four points on the circumference of a circle of

radius 8 cm such that ABCD is a square. Then the area of square

ABCD is

2

(A) 64 cm? (B) 100 cm

(C) 125cm? (D) 128 cm?
61. Al 3x+4y=10Td 2x—2y=2 B

x=1,y=2

A) x=2,y=1 (B)

(®) =-1,y=-2 D) x=3,y=1
If3x+ 4y =10 and 2x—- 2y = 2 then | |
a) x=2,y=-1 | (B x=1,y=2

© x=-1,y=-2 D) x=3,y=1

5

62. e wifieor Im Sx+2y=7 W 9x-10y=14% -
a) SR (@) fed
© oemPm . (D) wHINEAS

The pair of linear equations, %x+%y=7 and 9x—- 10y = 14 is

(A) consistent (B) inconsistent

(C) dependent (D) none of these

63. Hrﬁwz}c+3y+ 15=0Td 3x—-2y - 12 = 0 % HOE 6y THR 6
@ gt ? | |

(A)  wurh wte @i (B) HHIR & {@Id
(© ufresd we W@ (D) 3T A =g T
-
H/S-24(M)/72041-(76/80) Page 25 of 48




’fhe graphs of the cquations 2x t

are which type of straight lines ?

(A) Coincident straight lincs
(B) Paralle} straigﬁ'; lines
(Ci Intersecting straight lines
(D) None of these |
(o whe R 26~ 3T 5 el 4x—by=TF T E
@) e

(A) @ﬁt%ﬁﬂ@%ﬂ

(C)" afid &

o) FTHE HT$ TR
The system of linear equations ox—-3Yy="9 and 4x—6Y = 7 has

(A) one and only one solution

(B) no solution

(C) infinitely many solutions |

(D) none of these

65. aﬁmi@ﬁ 4x+py4=.1639ﬂ 2x+,9y= 15“\"&'{%‘&{)%‘
B0 ?
5 B) 3

o _
3 .
(€) 18 (w

[H/S-24(M) /7204 1-(76/80) |




' | =15 a
If straight lines 4x + py = 16 and 2x.+ 9Y

what is the value of p ?

A = ® 3

(C) 18 (D)
66. fyeifera A @9 T 9 T8 8 P

y e

[\)Ir—‘

| 1
(A) 545,43

(C) 8, 14,20,26, ... (D) 4, 10, 15, 20, ...

Which of the following.is not an A.P. ?

g 1 _5 -2 -1
(A) 5,42’4’32, (B) 17 6, 3, 2, DY
(C) 8,14, 20, 26; ... (D) - 4, 10, 15, 20, ...

67. afe (2x-1), 7, 3x it I H F @ x 1 T B

"3 (B). .42 2
© 1 ‘(R/

If (2x-1), 7, 3x are in A.P., then what is the value of x?

2L ) 1 | (D) 5

-5 -2 =1
(B) - 1,’ 5’ 3’ 2’7

[210]

re parallel then

68, . > ’
e o wEiaw A S, 12, 19, .. H n A 9G R Al Gy~ aye 1WA T

BN 2
(4) 20 (B) 35
—@» o s
/2 m/s—24(M)/72041—(76/80) Page 27 of 48
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[21
~ then what is the valy,

| N
if a s h term of the A.P. 5, 12,. 1
“:o'“ss?
5
(A) 20 (B) 3
(C) 30 : (D) 55 | '
ot EeE A 7@%‘%4%@3&@@ it — 4 % T TR I
B ?
A 10 @ 20
(C) 24 (D)' .

If the 7th term of an A.P. is 4 and its common difference i

then what is its first term ?

A) 16 ®) 20
C) 24 (D) 28
70. e, FATR %\aﬁ ¥ WUN n T& 1A (4n+2n) B A i 360
F A .
A) 6 | (BQ/
© s D) 4
If | |
the sum of first n terms of an A.P. is (4n2 +2n) thet the

difference of A.P. is
A) 6
(B) 14 -

) 8
D) 4

\H/S-24(M)/7204 1-(76/80) |
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£ frefrRaa o i wgue TE 8 ?

71.
@ Tix-sfExes (@ dxP-ax+V5
©) x+2Jx | (D) ’51"‘3 padhis

Which of the following is not a polynomial ?
(A) J3x%2-5J2x+3 (B) 3x%-4x+J5

(C) x+2Vx (D) éx3 ~-3x%+2

72.  WEIG (3x2 - 7x+2)(2x* +3x3 —5x+2) I GW B
a) 2 (M
© 4 | D) 3

The degree of the polynomial (3x2 -7x+2 )(2x»4 +3x3 —5x + 2) is

A). 2 | - (B) 6
© e N ]
73. W x?-13 B YEHEE . | '
(A) 13, -13 e (B?\KJE
(C) V13, -J13 | (D)V V13, -13
The zeroes of the polynomial x2 13 are
(A) 13, -13 (B) 13,-413
C) V13, -J13 | (D) V13, —13.
\

H/S-24(M)/7204 1-(76/80)
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)mq%wgw%o
F

(2 m + 2

fere - 4 «gUua x2-x- |
74, mF 50 7H B |
B 7 B) 8 -:
QY 9 D) S
of the polynomiy (.

‘ eroes
For what value of m, — 4 is on¢ of the z

x2_x—(2m+2)? | | I q
B) 8

@A 7 | :
D 5

© ° (D) U

124l q <1 | BT «

ox? —3(a—1)x—1 T LFF 1

@€ o (D) 2
If 1is one zero‘ of the polynomial p(x)= ax?-3(a-1)x-1 ther (A
value of ais | - (©
- | ‘ 8. =R
(A) 3 B) 1
. . (A
© 0 D) 2 )
(C)
76. mﬁmﬁma@%g@m%@_%g? .
'» If o
(A)  10x2+x+3 | (mhs | @)
(C) 10.>C2 -X+3 (D) 10x 3 (C)
-x-

—

L/S ~24(M)/ 72041-(76/80) Page 30 of




(2107

has zeroe€s

F

Which of the following quadratic polynomials

a and —% ?
(A)  10x*+x+3 ' (B) 10x*+x-3
(C)  10x*-x+3 (D) 10x*-x-3

77. Fl¢ wgUg P(x)=x*-3x-4 &% I o qa B & %(a+B) &® AH

If « and B are the zeroes of the polynomial p(x)= x?—-3x-4 then

£

the value of 3 (a+pB) is
(A) 4 B) -3
€ -3 (D) 1

A) x-5 (B) x+5

1
9 =5 P

A)  x-5 (B) x+5
. g L o D)
5\)C_$ X+5 | .

[I'.I/S_24(M)/720,41—(76/30), : Pagm



80.

81.

[210]

2 _4x+30 P (x)= X% +2x-15 Hom

afe p(x)=%
ﬁmm%a’rwmaﬁmﬁ@*ﬂ

@A) 4 ( 2
c) 3 o) 1

If p(x)=x" 4+ oxd —17x% —4x+30 is divided by
2 +2x—-15, then the degree of the quotient is

q(x)=
A 4 (B) 2
©c 3 D) 1

afe I 2 +5x+8 % ITH L pa @ o +pt 20 el

A) 25 B) S
c 8 (D) 64
If o and B are the zeroes of the plolynomial 2 +5x+8 then th

value of o + [32 +2ap is

() 25 . ® 5
© 8 | o 64
5 3% o @1 sl e 2

A 25 ® 20
©) 30 (D) 35
The mean of first seven multiples of 5 is
(A) 25 B) 20
() 30 (D) 35

‘ .
H/S-24(M)/7204 1-(76/80)l Page 32 of
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82.

83.

84,

[210 ]

20, 13, 18, 25, 6, 15,21, 9, 16, 8, 22 %! rferesT 2

(A) 18 | (B) 16

(C) 6 | - (D) 15

The med‘ian of 20, 13, 18,' 25; 6, 15, 21, 9, 16, 8, 22 is
A 18 (B) 16

© e D) 15

283, 15, 25, 40, 27, 25, 22, 25, 20 % TETH B

(A) 23 | | (W |

(C) 22 . o) 15

The mode of 23, 15, 25, 40, 27, 25,22, 25, 20 is

4 23 o (B) 25

© 22 D) 15

© 42 - (D) T A B

The median of a frequency distribution is 40 and meap, iq 38.2

Then ijtg mode is

(C) 47 ,. (D) none of thege

' w/s_24(M)/72041-(h ’Page330f48



o 3 At x I A &

ﬂ qﬁxx+3’x+5’X+7®x+l
" 85. ?
® ©
a4
] (D) 7 .
(C) x + 10 is 9 then the valye

\ ' and
If the mean of x, x + 3, x+5,x*t 7

xis
a4 . B ©
C 5 | | o 7 -

86. Witdehal 1 <L AT B 8 o |
(Aﬁ S B 1 o
(@] 2‘ D 3"‘3@@3"@
The minimurm value of a probability is -
@w o o® 1
€ 2 | (D) none of these

87. ﬂﬁ%&ﬁﬂﬂA%Hﬁﬁ.m 0-35%'?1‘{/;%:@%12?{@?@
o |

) 083, | B 65
C) o
(C) 65 D)

(A) 0-53 .
. B
(C) 065 B) 65
(D) 3.5
H/S-24 -
M)/ 7204 1-(76/80) %

Page 3
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88.

89.

90.

[210]

o el Y Sorer § g qio 6w 3

a) 3 - B 4 .

(C) 8 : ' (D) 6

In tossing of three coins the number of possible outcomes is
Ay 3 B) 4

€ 8 (D) 6

Sreaferfa & e e R w0 SR T @ w2

(A) 05 B) 19
0 | -3
(C) | 80% | _(D‘) vy

Which vo'f the following numbers cannot be the probability of an

event ? ‘

(A) 05 B 19
0 ! : _§_

© 80% o 3

@m@@ﬁﬁﬁ‘sm sﬁsmaimmgﬁﬁmham%

o L B =
(©) g (D) %

In a throw of one die the probability
less than 5 is ‘

(A) (B) —é—

N~

(D)

Page 35 of 48
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(C)"(2,6) . PP, the points A ( 2. 8)an
int of the lin€ segment joini g

The mid-poin

B(-6,-4)1is |

(A) (-6,-4) § (B) (_4,2)

© (26 O) (-4,-6)

wﬁﬁgu,z),(o,om—oi'(a,b)z’rﬁag‘i,?ﬁ
Ay a=b | ' (B)  a=2b

(C) 2a=0>b - (D) a+b=0

If the points (1, 2), ( 0,0 ) and ( a, b) are collinear then




ﬂAABcﬁAD ZBAC ®1 3% 81 IRk AB = 4 ¥, ac -

94.

e,
i |
h

BD = zéﬂﬁg‘t?ﬁDcvmm-@m
@A) 3EH | (B) 6@
© 7aH (D) 4 &

In AABC, AD is bisecAtor of ZBAC. 1
BD = 2 cm then the value of DC is

A) 3cm (B) 6 cm

(€) 7cm (D) 4cm

4

1210
6 T qun

f AB= 4 cm, AC = 6 cm and

ﬁgﬂABcﬁDEHBchW%% =

x 1 AF 8
A) 9 B) 10
) 11 (D) 12

AD _

In trlangle ABC, DE || BC SuCh that PE -

then the value of x is

“w o | (B) 10

" 900 B) 30°

(] D) 45°

AE ___ 8
EC  3x-19
AE 8

EC 3x-19

| qﬁAABCI?E AB =13 @i, BC= 1o &t T AC =5 ¥Hl A1 £C 1 HE 7

[H/S-24M) 77204 1-(76/80)
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fin AABC, AB =

of LCis

A 90° @ 30

) 60° o) 4>

- o P e T 1 @ & % T

Rl
(A) 27:8 B 3:2
c 9:4 »(D) 4:9

If the ratio of areas of two cquilateral triangles 1S 9 : 4 then

ratio of their perimeters is
(A) 27:8.
c 9: 4

afe AABC @1 ADEFﬁ _BC_AC _
’DE =EF~ DF -;7-@?%1 AABC?{?HADE

8.
e
() 57 B 25:49
© 49:25 DY - a5 843

If in AABC and ADEF, AB _BC _AC _5
.DE EF DF 7' then the ratio °

arcas of AABC and ADEF is

(A) L¥ : .
(B) 25:49

(C) 49 : 25 D)
125 : 343
R

|H/s-24
(M)/7204 1-(76/80) age




E | [210]

99. AABC Ud APQR @u&y it €1 afe AD 3iR pPS waw: £A wE 2P % ITgH

. , &AFA ( AABC)
8T AD = 6-5 ¥ ©§ pS = 5.2 A1ft A1 T (APOR) ~
(A) 49: 16 (B) 25:16

(C) 36:49 (D) 81:64

AABC and APQR are similar triangles. If AD ahd PS are bisectors of

ZA and ZP respectively and AD = 6-5 cm, PS = 5-2 cm then
area ( AABC)

area (APQR) ~
(A) 49:1i6 | ~ (B) 25:16
(C) 36:49 (D). 81 : 64

100. T Guerg st 1 T YA ¢ ® ) 59kt S=7E B

(A) a3 (B} %ﬁ
(C) 2av3 (D) %

]

If one side of an equil.ateral triangle is a then its height is

&)  aJ3 (B) %‘6
a
(C) 2av3 | (D) 7’5

\
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